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27> K IEfZ No K# FhE Btz FP B = 2L Bk =53

RIS 1 1 XH <55 Vortex 1 34 1.45.380
2 6 kK E HHHEER 1 21 1.46.810
3 13 HP x4LF HILRESK 1 13 1.47.070
4 4 KRB HAF HHEER 1 8 1.47.080
5 11 H#E —# BAMBES ISR 2 5 1.47.170
6 14 FR =& BRI 2 3 1.47.950
7 9 JBK K& MAMBES I ER 2 2 1.49.650
8 5 KT M HHEER 3 1 1.50.480
9 10 Ak ¥it B5) 1|2 3 1.50.820
10 2 /H Kk Vortex 2 1.51.740
117 7*E Kt BEERZER 3 1.51.890
12 16 H$ B\AF HBHEAPER 4 1.52.110
138 E& EF BEEHRZK 3 1.563.840
14 3 KAl BE Vortex 4 1.54.390
15 12 #EH DT B || HR 2R 4 2.03.400
16 15 BEH @il FLAFZER 4 2.07.950
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